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Topic:- General Knowledge

1) Who created history by becoming the first Indian gymnast to win gold medal in the vault event of FIG Artistic
Gymnastics World Challenge Cup at Mersin, Turkey? /

e aftfE, gat 7 fiem snféfees Rmmfes o ads &1 & afee gde # Wl ug® Sfitad g uyd URd
forRe s9 gfaera s

1. Sushil Kumar / G=d $UR

2. Ashwini Nachappa / ST AT
3. Dipa Karmakar / T HHTHR

4. Aruna Reddy / 31Ul i@

Correct Answer :-

« Dipa Karmakar / a1 HHTHR

2) United Nations General Assembly (UNGC) has declared June 21 as: /
UG WY TETHHT (GEASRN) 7 21 57 31 =1 & w0 F aifta fFar:
1. International Yoga Day / &Iﬂﬁ@'q T fead

2. International Doctors Day / GHTT@U fefr e faaw

3. World Environment Day / fay gfaRur feay

4. International Health Day / Gﬁﬁ@q Wy ey

Correct Answer :-

. International Yoga Day / &mﬁ@u qnT feag

3) Madhya Pradesh Irrigation Efficiency Improvement Project focuses on which of the following irrigation systems?
/

Frafufad & & fea Riws vt w wawes RAars gaar ger uRgioar Sfea &2
1. Sagar Nadi Medium Irrigation Project / SR T ey Rimrs alarsH

2. Omkareshwar Major Irrigation Project / BRI AR ﬁﬁﬂ’%ﬁ BIRCISEI

3. Bundala Medium Irrigation Project / QEF‘IT HEYH ﬁﬁﬂé BIRCISEI

4. Kundalia Irrigation Project / ﬁlﬁfm ﬁl?ﬂ's‘ BIRUISEI]

Correct Answer :-

» Kundalia Irrigation Project / @ﬁf&ﬂ ﬁﬁﬂ% BIRCISEI


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda247

1) has been selected for the development in MP, by The Ministry of Tourism under the Iconic Tourist
Sites Development Project. /

%@auﬁmﬁwmuﬁﬁw%m,uﬁmﬁmmmnmﬁmﬁﬁm%ﬁm &1 Tafad
T

1. Gwalior / ’GT%I'EIT
2. Bhimbetka / HHeeHT
3. Sanchi / I

4. Khajuraho / @T{J,T@f
Correct Answer :-

« Khajuraho / @@TI_E?[

5) ‘More crop per drop’ idea comes under which of the following schemes? /
Frafafaa 9 @ frw 9o & aga ufa 4g e waa sayrRuT 3 82
1. Pradhan Mantri Vaya Vandana Yojana / TYTTHAT 9 deT Ao

2. Pradhan Mantri Krishi Sinchayee Yojana / PRIEEp] ?ﬁ ﬁﬁﬂé gqroHT

3. Antyodaya Yojana / ey o

4. Accelerated Irrigation Benefit Programme / @Rd ﬁﬁlT’sc Y BRIHH

Correct Answer :-

« Pradhan Mantri Krishi Sinchayee Yojana / AT ?ﬁ ﬁﬁn's‘ o

6) Who was posthumously awarded the Best Actress National Award in 2018? /
2018 # FRUNURTT 5w w4y AR o Ifia [Reer & gwfa far wan?
1. Reema Lagoo /ﬂIITFI'I"]\

2. Sridevi / et

3. Nargis Rabadi / qfifa NCE|

4, Zohra Sehgal / EIRESRS]

Correct Answer :-

« Sridevi / fi&dY

7) The first democratically elected communist government was formed in ./
WY Abaita® ¢ A fAatfa arard! TReR 31 76+ T gam AT

1. Kerala in 1958 / 1958 & ohRdl

2. Kerala in 1957 / 1957 H Ra

3. Puducherry in 1957 /1957 & gga<t

4. Tripura in 1957 / 1957 & FQRT

Correct Answer :-
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« Kerala in 1957/ 1957 H &d

8) The Indian Institute of Forest Management is located in which district of Madhya Pradesh? /
Ay & ford fore  WRdg 99 yeu SR fRa 82

1. Indore / s_caT

2. Ujjain / IS0

3. Gwalior / TaTfeRAR

4. Bhopal / T

Correct Answer :-

« Bhopal / wara

9) The theme for the 2018 International Yoga Day was___ ./
Sirfgta AT faaw 2018 &1 fawa Tl

1. Yoga for Peace / Tifd % ﬁfQ Eh"T

2. Yoga for Peaceful Mind / Q'ITI%TU;UT T & ferg anT

3. Yoga for All/ gt ﬁrq anT

4. Yoga for Health / XdTRY & faw am

Correct Answer :-

« Yoga for Peace / Xifd & fow anT

10) The largest riverine island in the world '"Majuli' is located in ./
fay &1 e w7 A fu gl # a3

1. Nagaland / BININE]

2. Mizoram / TSIRH

3. Assam / 3[gH

4. Manipur / Af0TGR

Correct Answer :-

o Assam/ 3{dH

11) Kadaknath meat that recently got GI tag is a specialty of which MP district? /
FSHATY A R 71 81 # sftang & firen, woave & forw ford o5t fagoan 82
1. Sagar / IR

2. Raisen / I

3. Rewa / 3l

4. Jhabua / IT3T

Correct Answer :-
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« Jhabua / 3T

12) India’s only mechanized diamond mine is located in which district of Madhya Pradesh? /

AT P 5w o # URd B T axfi-itepd €1 @em R @2
1. Gwalior / TaTferIR

2. Sagar / IR

3. Panna / G+l

4. Satna / Il

Correct Answer :-

o Panna /Ul

13) India's first high-speed Bullet train will run between Mumbai and .

YRT B Ugelt g gac A gas ol Fdu s
1. Goa / TTaT

2. Ahmedabad / 3{GHGIETG

3. Bengaluru / STT®

4. Pune / Q01

Correct Answer :-

« Ahmedabad / 3IgHGIEI

14) Name the Dhrupad artists from Madhya Pradesh to have conferred the ‘Padma Shri’ in 2012. /
TSR & I YU HATHR BT A1 Fa1¢, g 2012 F 'w=rsft I gwf=ra fomam mam

1. Mohan Shukla / Ag Rkl

2. Sulbha and Manoj Saraf / FHT 3R TS TRIH

3. P.V. Kahu / G1.dl. &g

4. Gundecha Brothers / m agaﬁ

Correct Answer :-

« Gundecha Brothers / JcdT a‘g&ﬁ

15) Name the company in Hoshangabad which manufactures Bank Notes and Security papers. /
BIRATTETE & I HU BT ATH TaTg St S e 3R GR&T U7 §41e 3|

1. Currency Note Press / HT A

2. India Security Press / E'%TIT i o

3. India Government Mint / HRd WR&R fHe (3'%73” TTgHc ﬁl?)

4. Security Paper Mill / Ryt TR i

Correct Answer :-
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« Security Paper Mill / R TR fiad

16) Independent Evaluation Office has been created by the government of India for the purpose of: /

YRA IRPR gRT = I£=T & I Tads geaicrd Sraitad a-14d7 14T

1. Conducting audit of the public sector companies / YIS & &1 HUH & AT URT&T BT AT B %ﬂ

2. Increasing public accountability of some major programmes / & U FRHH B Jraol-d Srarecal A Q@ %ﬂ
3. Raising capital resources from the public / STl q Q\Trﬁ RRSILE] a'c.rrfr %ﬂ

4. Creating an independent evaluation office of national accounts / TI'@'C[ Q1! &1 b WA HAip FHrTAg F %ﬂ

Correct Answer :-

« Increasing public accountability of some major programmes / P& UL FHTIHH! Bt AdeI-dh SaaGg! o ?ﬂ? %ﬂ

17) According to the Government’s 2018 Swachh Survekshan survey, which city of Madhya Pradesh stood 2" jn
the ranking? /

YR & IS AT T 2018 & TGS, HeA U & {6 WGR I AT F gORT I YT gaim?
1. Indore / $GR

2. Jabalpur / T&FAYR

3. Gwalior / TaTICTIR

4. Bhopal / HIUT@

Correct Answer :-

« Bhopal / uard

18) According to International Union for Conservation of Nature (IUCN), which of the following is a
vulnerable species? /

RIS U T TR 6 (IMEGHIT) F uR, Fafifed & 9 o= A yenfa sifaddg=ia g2
1. Spot billed pelican / ic fows Uferad

2. Great Indian Bustard / I€ 37877 Scs

3. Forest owlet / TR 3T (PIR¥T 3M3¢IC)

4. Lesser Florican / S8R IR

Correct Answer :-

« Spot billed pelican / T1c faes Ui

19) Which of the following minerals is associated with Malanjkhand mine in Madhya Pradesh? /
Aovew # frafafed & @ o= a1 @fie, raeds weF § |t 32
1. Copper / didl

2. Manganese / A
3. Bauxite / SIGITSC
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4. Limestone / AT U

Correct Answer :-

» Copper/ GIE

20) Which of the following states is not in the List of focused states of DFID (Department for International
Development) by UK in India? /

%gg@aﬁﬁﬁqmm URA & I gRT SHIATES! (SRS e furm & #R7 rogiast gt &
1. Odisha / 3N

2. Madhya Pradesh / ASOUGRT

3. Rajasthan / TSI

4. Bihar / TR

Correct Answer :-

« Rajasthan / XTSI

Topic:- General Hindi

1) UgTS ¥ e O yuigarh are 2ree! F1 ufed &1 i)
1. gad, 3, e

2. Udd, 3rgq, Rk

3. Udd, 3=, IRk

4. OTdqt, 3, Rk

Correct Answer :-

2) 37Fd TR URR TS - GeTax &1 o P fiesei d d S arg?
1. AT G

2. AAIGHTEAT guf g

3. 99

4. gfg A

Correct Answer :-

. GG

3) Ugoll AT Siiaq @ O | - § 9 & A 91 971 3R 82
1. fawfaa SrddR

2. 3097 DR

3. Gohifad ABR
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4. I IABR

Correct Answer :-

. JUHT ABR

4) 319 - Yoy | 1 W P A A P ATR?
1. Usld

2. HIaYDh

3. (g9 dd

4. 3lddH

Correct Answer :-

5) Ggforard - &1 e & 9 o a1 9l fiaa weg 32
1. 3faad
2. 3Tgfaard
3. 3fgfaard
4. ATORaATE!

Correct Answer :-

6) URuIH - & e wet dift fa=de =t gl
1. OTR+TH
2. QIR+
3. R+
4, URHAH

Correct Answer :-

. R+

7) N -FIYSFU R AR BT AR

1. 83
2. 9d

3. 93
4. T3

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

8) XMid ¥ BT RITH HIT FT 3?2
1. Q=T

2. AT

3. GraRh

PRECT

Correct Answer :-

9) THIVT - & forg wd Wit fawde &t gfAul
L. U+HH
2. IRHHIEF
3. UI+HHE
4. IR+HAT

Correct Answer :-

o TU+HMA

10) TH¥=Udl - &1 0 § I &1 a1 9 faaiv 2 82
1. 3FHEY
2. IAHEY
3. HHEY
4. 3FHTEY

Correct Answer :-

11) S UEA T TP e & Rt I PR A A s e
1. Yeqd
2. IHH

3. 3YdTd
4. vfaeg

Correct Answer :-

12) PRV NI SRR @ IGFEdIsI?
1. A&

2. IATRAH

3. TARAD
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4. ARI®

Correct Answer :-

13) graoft - ST Y FUFE A AT AR
1. Fagroft
2. rféroft
3. TI&0T
4. gfayoft

Correct Answer :-

. gfeoft

14) Yfd - SUET S T I FU A A S AT 2
1. fofare

2. JTidTg

3. difdarg

4. yfaarg

Correct Answer :-

15) U - SUFT A T g A A A P ATR?
1. fOifcremd
2. grfcraTd
3. Wifcrard
4. yfdard

Correct Answer :-

16) Ugaw@ - ¥ fw & A B9 w1 a9 22
1. HHYRY TR

2. G5 9

3. Sgsiife TN

4. fgr9amg

Correct Answer :-
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17) gRGHIAT - BT AHRIS faug g A A ST A1 82
1. B T B Hrel
2. B H Hiell
3. X O | Hiel
4. GO T Tl

Correct Answer :-

. WHAH A

18) T & e we yatuarh ara 25l ¥t ufda &1 gfw)
1. IRd, RIOR, Te=h

2. R, aRATOR, Tt

3. TR, aRATOR, Teit

4. i, Rfoft, afe=

Correct Answer :-

19) P gH? & T g4, O SRl ol W |

Afg aHte € i, for o uoea ura ) - ® e & 9 919 a1 SeioR 82
1. ¥UH AADR

2. ffa=fad ABR

3. I Ifad HABR

4. IHET 3ABR

Correct Answer :-

20) fra®d S8 Ygwal mad|

AT 9 T8 F AT e tee uraa | - AP m A AT EE
1. YT ™

2. YA T

3. Al Y

4. QA XY

Correct Answer :-

o Y

Topic:- General English
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1) Choose the correct form of tense for the given sentence:

Demining the action of removing landmines, booby traps and unexploded bombs from an area so that once
they soldiers can pass over the area safely.

1. was, had removed

2. is being, are being removed
3. is, are removed

4. has been, has been removing

Correct Answer :-

 1is, are removed

2) Choose the correct form of modal auxiliary verb for the given sentence:

The Government _____ do something for the farmers who are suffering due to insufficient rain.
1. ought to

2. need

3. ought

4. use to

Correct Answer :-

« oughtto

3) Choose the most suitable determiner for the given sentence:
There are ____types of cartoons that children love to watch all day.

1. little

2. fewer

3. much

4. several

Correct Answer :-
« several
4) Choose the option that correctly sequences the following sentences:

. Similarly, coffee starts to lose its flavour if gets old.
. It's like a banana kept in the fridge.
. The taste of coffee depends on its freshness.

AW N -

. It goes stale if kept for many days.
1. 1234
2.4132
3.3241

4,2314
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Correct Answer :-

« 3241

5) Choose the option that best explains the highlighted expression:

A man of enthusiasm must take a shot at something problematic.

1. make an attempt

2. demand something

3. ask something

4. give something

Correct Answer :-

« make an attempt

6) Choose the option that best transforms the given sentences into one.

The speaker had just finished his speech. The people started shouting slogans.

1. Hardly had the speaker finished his speech before the people started shouting slogans.
2. Hardly had the speaker finished his speech then the people started shouting slogans.
3. Hardly had the speaker finished his speech when the people started shouting slogans.

4. Hardly had the speaker finish his speech and the people started shouting slogans.

Correct Answer :-
« Hardly had the speaker finished his speech when the people started shouting slogans.
7) Choose the appropriate conjunction for the given sentence:

John has learnt to play football well, his favourite sport is badminton.

1. also
2. yet

3. s0

4. and

Correct Answer :-

8) Choose appropriate articles for the given sentence:

Advertising is both ___artand ___ science; some of ___ advertisements are so artistically designed that they are the
source of great aesthetic pleasure.

1. an, the, the
2.an, a, the

3.3, the, an
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4. the, the, the

Correct Answer :-

9) Choose the correct form of tense for the given sentence:

Thebank __ to write off a large amount of the farmer’s debt just before the financial year ended.
1. was forced

2. was forcing

3. forces

4. will force

Correct Answer :-

« was forced

10) Choose the word that is opposite in meaning to the highlighted word given below:
He is an intense young man who takes life very seriously.

1. moderate

2. emotional

3. profound

4. vivid

Correct Answer :-

» moderate

11) Choose the appropriate prepositions for the given sentence:

Sweat trickled ___ the man’s face when he noticed the beast standing __ him.
1. down, behind

2. up, beside

3. through, over

4. on, against

Correct Answer :-

« down, behind

12) Spot the error in the given sentence and choose the option that rectifies it.
These river and that mountains make the weather what it is.

1. This river and those mountains make the weather what they are.

2. These rivers and those mountains make the weather what it is.

3. These river and those mountains make the weather what it is.
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4. These river and that mountains make the weather what they are.

Correct Answer :-
o These rivers and those mountains make the weather what it is.

13) Choose the appropriate option that rewrites the given sentence in active voice.

I will be forced to go.

1. I will go because of someone.

2. I will force some to go.

3. Someone will go because I force them to.
4. Someone will force me to go.

Correct Answer :-

» Someone will force me to go.

14) Choose the appropriate prepositional phrase to complete the given sentence.
I look forward you.

1. to see
2. to be see
3. to be seen

4. seeing

Correct Answer :-

* to see

15) Choose the option with the appropriate prefix to complete the given sentence.

We have learnt about ___regular verbs in our English class and found it very interesting.
1. mis-

2. un-

3. 1r-

4. mal-

Correct Answer :-

16) Choose the option that best transforms the sentence into passive voice:
The Chief Guest cut the ribbon to inaugurate the new emporium.

1. The ribbon was cut by the Chief Guest to inaugurate the new emporium.
2. The ribbon was being cut by the Chief Guest to inaugurate the new emporium.
3. The ribbon was cutting by the Chief Guest to inaugurate the new emporium.

4. The ribbon had cut by the Chief Guest to inaugurate the new emporium.
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Correct Answer :-

o The ribbon was cut by the Chief Guest to inaugurate the new emporium.

17) Choose the correct form of verb that is in agreement with the subject:

When it public buses can be twice as dangerous because most of them
system.

proper windscreen wiping

1. is raining, doesn’t has
2. rains, don’t have

3. rain, hasn’t

4. raining, isn’t having
Correct Answer :-

« rains, don’t have

18) Choose the correct form of the verb from the following options in the given sentence:

They chess when I went to see them.
1. playing

2. is playing

3. were playing

4. was playing

Correct Answer :-

« were playing

19) Choose the correctly punctuated sentence:
1. well we have finished our work for the day!
2. Well, we have finished; our work for the day.
3. Well, we have finished our work for the day.
4. Well! We have finished our work for the day?
Correct Answer :-

« Well, we have finished our work for the day.

20) Choose appropriate articles for the given sentence:
__ dogbarked ____ whole night and disturbed my sleep.
1. The, an

2. A, an

3. A, the

4. An, the

Correct Answer :-
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Topic:- General Mathematics

1) A linear equation in which its ordinate is half the abscissa and opposite in sign is: /
TS QP THIH Forad 5T Hife-31er, Yoiie &1 3ner iR g # faudia gar :
1. 2x=y

2.2y=-x

2) Solve/%ﬁﬂ'ﬁ':
1186 x 298 = 298 x?
1. 1186

2.298

3. 888

4.3.97

Correct Answer :-

- 1186

3) The difference between two numbers is 256 and the difference between their squares is 256000. Find the
numbers. /

3 Tt & FH BT 3R 256 & TG AP T b o1 BT 3ieR 256000 & | JATY 1T DY |
1. 722, 466
2. 608, 342
3. 488, 232
4.628,372

Correct Answer :-

» 628,372

4) If 10% of x is same as 20% of y, then x:y is equal to: /
X BT 10%, y B 20% P R ¢, 99 x :y WX &:

1.1:2
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2.2:1
3.3:2
4. 9:8

Correct Answer :-

e 2:1

5) A sack of mathematics text books weigh 2kg 400g. If the weight of one mathematics text book is 300g, then how
many text books are there in the sack? /

TIOTT 1 TS ! arelt U at &1 aoi 2fFa 40071 B | afe 0T &Y uw uted YRaw &1 awi 300 ITH
2, A 98 § fra-t ureu ged 22

1. 10
2.8
3.26

4,12

Correct Answer :-

6) Theresa took a loan of Rs. 80000 to buy a vehicle. She paid back Rs.4600 every month for one and a half years.
How much did she pay back to the bank? /

AT A TP a8 WG P T 80000 FUT BT HUT foram | 3T 3¢ AT 9P 8% WS 4,600 FUI BT YA
a1 39 9% &1 aru fan e fean

1. Rs. 83,600 / 83,600 ¥UU
2. Rs. 81,000/ 81,000 ¥UT
3. Rs. 82,800/ 82,800 ¥UTQ
4. Rs. 55,200/ 55,200 >UQ

Correct Answer :-

+ Rs. 82,800/ 82,800 ®UU

7) Subtract (-274) from (+172)./
(+172) H | (-274) HETC|

1. 446

2. -446

3.-102

4.102

Correct Answer :-

. 446
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8) 74 books and 106 pens together cost Rs. 1910 while 106 books and 74 pens together cost Rs. 2230. The cost of a
book and a pen is: /

74 TXIP] U4 106 HAHI B A AT 1910 FUYT §, Fdfh 106 Y&AD] Ud 74 HHI &1 $o ARTH 2230 FUT ¢
TF AP U4 Uh HAH B a1l @

1.Rs. 30/30%4Q
2.Rs. 37/37%UQ
3.Rs. 25/25%4U
4. Rs. 23 /23340

Correct Answer :-

« Rs.23/23%UU

9) An irrational number between 2 and 2.5 is ./

2 3R 2.5 & 99 U@ URAY F&IT gl

1. +/225

2. +/5

3, V155

4 V10

Correct Answer :-
. +/s5

10) In an exhibition hall, there are 24 display boards each of length 1m 50cm and breadth 1m. There is a 100m
long aluminium strip, which is used to frame these boards. Find the length of the aluminium strip required more to
frame all the boards. /

T UG- 3Td A, 24 v 1€ €, o ude &1 dars 171 503+ ofik =hers 1 7 g1 v 1007 ol
Tyt udh 8, RoraeT Suah 39 Sist @1 Bu w1 & fore far wmar 81 3t st «) b w5 & fore
SRS Sfafvad Tetf-aw udl &t darg g s

1.20m /20 |
2.120m / 120 |t
3. 10m /10 Ht

4. 4m/ 4 H

Correct Answer :-
. 20m /20 H

11) Kirthi borrows a sum of Rs. 10,000 at a rate of 12% per annum for 7 years. Find the amount to be paid at the
end of 7 years. /

aﬂﬁ;ﬁtﬁiﬁmlz%uﬁraﬁaﬂa‘é 10,000 U F1 AR IUR et 1 7 a9 & 3fd & YT 9 qreit AR
Id B
1. Rs. 18,400 / 18,400 TUY
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2. Rs. 19,600 / 19,600 ST
3. Rs. 20,000 / 20,000 ST
4. Rs. 17,200 / 17,200 ST

Correct Answer :-

« Rs. 18,400/ 18,400 ¥UY

12) Find the cube root of 13.824. /
13.824 T U-TA F1d B |

1.2.6

2.3.4

3.2.4

4.3.6

Correct Answer :-

- 24

13) Find the 9" term of the series: 4,7,10,13.../
it 4,7, 10, 13... 1 9% UG T B

1.31

2.24

3.25

4,28

Correct Answer :-

. 28

14) Which one of the following numbers is the greatest? /
Frafafed # 4 919 9@ te den aad a1 82

1.2354

2.2453

3.2345

4. 2435

Correct Answer :-

« 2453

15) If 9 workers can build a wall in 28 hours, then how many workers will be required to do the same work in 21
hours? /
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T 9 4P TP IaR &1 28 Ul & 991 Ahd &, df FHH 1 B 21 Hel H B P e fraa yfie) ot
3TITgSHdl ghit?

1. 15
2.24
3. 18

4,12

Correct Answer :-

o 12

16) A door with dimension 2.5m>1m and 2 window frames each of dimension 1.5mx*1m is fixed on
awall of dimension 7m=6m. Find the total labour charge for painting the wall if the labour

charge for painting 1m? of wallis Rs. 4. /

2.5 #r x 1 & of@Awr arer v axarar i 1.5 # < 1 Jr oftammwr aer 2 Gstear
& e, 7 7@ <6 7 aftamer arell v AR W @i T g1 AR #F 9 A &
AT o 47 aea 719 R, IR JAR & 178 f 9 & B osam ana 4 793§

1. Rs. 146/ 146 24U
2. Rs. 152 /152%4UQ
3. Rs. 168 /168 ¥UU
4, Rs. 158 /158 ¥UUQ

Correct Answer :-

« Rs. 146/ 146 %UU

17) Solve the value of x in the given equation: /

few v FHEewer #, x F T AW JT W
7+ 4x 5

“3x+9 20
1.-1
2.2
3.2

4.1

Correct Answer :-

18) (1068 = 486 = 928) will be a number that ends in digit_ . /
(1068 = 486 x 928)°uar @war gHlr =Y 3 U §ATT gidr 8l

2.2
3.4

4.6
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Correct Answer :-

19) Solve:/ §e @i
(153+53)2

1.81

2.243

3.729

4. 10%x30
Correct Answer :-

. 729

20) , : -3 -5 -8 g
Armrange in ascending order: T,T,— and ; /

9
_73_75 _?8 Uﬁg &I HRIGT hed 3 a2 d Fi |

»

Topic:- General Science

1) Under which of the following conditions is a person most likely to fall sick? /

Frafafea # & feu fRufa # ve afdd $ HaR vsa ot duraHr st g2

1. When she has recovered from malaria and is taking care of someone suffering from chicken pox. /
S 98 HARAT Y 31 1 TS 8 3R Tae | R fpel sufd ot SaTet R 38 8

2. When she is recovering from malaria. /
e I8 HelRgT ¥ 31 81 %1 81

3. When she is at home having a healthy diet. /
e 98 TR TR W 3MER it 81

4. When she is on a four-day fast after recovering from malaria and is taking care of someone suffering from chicken pox.

/
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9 98 HARAT ¥ 31 8 & 91 IR e & IUd™ W 81 31k I9& ¥ Uifsd fd! afad &1 gaHTd d= Xl 81l

Correct Answer :-

« When she is on a four-day fast after recovering from malaria and is taking care of someone suffering from chicken pox.

/
9 98 AT ¥ 31 81 & 918 IR a1 & Iua W 81 3R 2w ¥ tifsd fed safda &t SauTet o2 381 8l

2) To which phylum do the following features apply?

1. The body of the organism is dorsoventrally flattened.
2. The organism is triploblastic and bilaterally symmetrical.
3. Most of them are parasites.

frafifEa fadivane g w9 (Brgaw) R arg e 82

1. 5119 &1 IR 78R 0 A GueT giar 3
2. Wiig, TR 3R fguehty +u & qufia giar 81
3. 30 9 SUTETaR WRoitd! g €1

1. Annelida /ﬂﬁﬁ‘l@'ﬂ

2. Platyhelminthes /@’Cﬂm

3. Nematoda / THICIS (ﬁﬁ?ﬁlﬂ'ﬂ)

4. Arthropoda / 3mfaraT mqﬂ)

Correct Answer :-

« Platyhelminthes /Iﬁ?ﬂ%ﬁ?ﬁ\_ﬂ

3) If heat falls on an object, then: /

w9 foreft avg R SwT Ust g, -

1. the whole heat is reflected only / Had U,_:\ﬁ T Riafad Eﬁ?ﬁ % |

2. the whole heat is absorbed only / Had @ ST T Eﬁ?ﬂ %I

3. the whole heat is transmitted only / Had U;\PT ST g gt §

4. the heat may be absorbed, reflected and transmitted / 3> SHT Gfa"\fnﬁfﬂ, Widafdd 3R TEiRd E?f Tahdl %I

Correct Answer :-

« the heat may be absorbed, reflected and transmitted / 3 SHI KGRI , Wﬁﬁ GhT TTid Epf Thdt %I

4) The noise pollution causes: /
<af~ UGHUT HT BRI 2:

1. Cancer / H¥R

2. Hypertension / N INIGEIC]

3. Very high fever / §§d 0ol §UR
4. Diabetics / If?;]}a_s'

Correct Answer :-
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« Hypertension / RIRKEIC]

5) The product/s obtained in a neutralisation reaction is/are: /
T FrouTdeRor sififean & yra Iae 278

1. Acid / 31&T

2. Acid and salt / 3% T4 <0

3. Salt and water / 90T Ud &

4, Base and water / &R Td Sd

Correct Answer :-

« Salt and water / 90T Ud ST

6) The inner surface of a polished steel spoon acts as a: /

UTRRIGR ¥ & T7E B TARP A SAP] a¥8 P Sl o:
1. Concave mirror / Agdd GUUT

2. Concave lens / 3{ddd o

3. Convex mirror / 3@d GUUT

4. Plane mirror / FHIS GUUT

Correct Answer :-

« Concave mirror / 3{ddd gUUl

7) The correct chemical formula of calcium nitrate and potassium dichromate are respectively: /
SRy Argee 3R R/ SIEHAe & el TS T HU: §:

1. Caa(NOz) & K(CnOr)2

5. CaxNOz & K2(Cr07)2
3, Ca(NOs} & K2Cn07
4. CaNO: & K:Cr207

Correct Answer :-

Ca(NOa) & K2Cr209

8) The separation of two immiscible liquids can be done based on the difference in their i
31 rfryofiy ave uerdf &1 guameor, 3% W Siav & SMUR W fHar o gwar gl

1. densities / Il

2. volumes / 3TIA!

3. refractive indices / 3UdA®H Wﬁﬁ

4. masses / S
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Correct Answer :-

« densities / Il

9) Viruses are placed as marginal between living and non-living things because they are i
T B Siifad 3R efifaa vl & fu Fwia Sl RegI@ A ®fpd

1. able to multiply on their own / &Y &l mﬁk_‘[ I H g Eﬁ?f %I

2. like crystals inside the body of the host / NG @E) & IRR & 3iaR fohed B Re %I

3. living only inside the body of the host / $Had UNdH )m( & IR & 3R Bl W?f %I

4. primitive organisms / 3{@1:[ Sfta Eﬂﬁ %I

Correct Answer :-

« living only inside the body of the host / HId NS )Eﬁ?( PFWR B 3 é’f Q_E-:?f %I

10) At 8.30 pm, the odometer reading is 5845 km. What will be the speed of the vehicle if the odometer reads 5890
km at 9.00 pm? /

T 8.30 T91, 3NSIHIER B HfET s84sfpeardier 81 afe nEiiex 714 9.00 T 5890 S Ha1 8 o a8 F
T T g2

1. 3 km/min / 3 foeil/fBe
2. 1.5 km/min / 1.5 foouil/fo1e
3.2 km/min / 2 fdl/fiHe
4.5 km/min / 5 foodl/fBTe

Correct Answer :-

« 1.5 km/min/ 1.5 8y /fHAe

11) Copper consists of two isotopes A and B, whose atomic masses are 62.93 amu and 64.93 amu respectively. The
atomic mass of copper is 63.55 amu. Calculate the percentage of the isotopes A and B. /

PR A 3 FURITAS A 3R B Afed &, rd IRUTY] S0 HHRM: 62.93 amu 3R 64.93 amu &1 TS BT
TRHTY] ST 63.55 amu & | THRIT®! A 3R B &1 ufa=ra uRefa Sk

1. A (51%) & B (49 %)
2. A (60%) & B (40 %)
3. A (69%) & B (31%)
4. A (1%) & B (99 %)
Correct Answer :-

« A (69%) & B (31%)

12) Arrange the following organisms in their decreasing power of regeneration.
i. Lizard

ii. Planaria

iii. Man
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iv. Earthworm

v. Eagle

frfefaa Sial @) 39% Yo+ 3t g &Har 6 afeud oy:
i. fsumett

ii. TATET

iii. 9

iv. YT

v. TIPS

1., i, iv, v iii

2. i, v, iv, i, iii

3. i, iv, i, v, iii

4. ii, iv, v, i, i
Correct Answer :-
. i, iv, i, v, iii

13) An iron nail is dipped into a solution of copper sulphate for 1 hour. Find out the correct statement regarding
this experiment. /

W BIR ebe & faau A @i &1 U $ia o1 1 6 & o1 garar Sirar 81 39 Wi & Heo o adl sy &1
T PN
1. All of these / SURT T
2. The colour of the solution changes from blue to green colour only. /
Had faer &1 31 1 i ¥ & 31 o uRafid 81 Sirar g
3. The green colour is due to the formation of ferrous sulphate only. /
$ad B GAbe P [HHIUN & BRI B T 51 oIl & |

4. A reddish brown layer of copper deposited in the nail only. /

Fad BId B e B TP a1 4R T Bt IR Fafd g S 21

Correct Answer :-

« All of these / SURIST G

14) What happens to the pressure when an aeroplane is moving fast? /

o9 U fauT dsil & 3 9¢dT 7, 1 319 & HIY T g1 32

1. The pressure below and above the wing is the same. /
Ul & A9 IR SW 1 <16 FHH 1 5 |

2. The pressure above the wing is more than the pressure below the wing. /
G P HWR BT aE, UF & 19 & g9 I e i gl

3. The pressure below the wing is more than the pressure above the wing. /
U & 19 1 a1e, Td & FW P a6 ¥ 31 g g

4. The pressure above and below the wing increases. /

TG & SR 3R 19 &1 g9 §¢ SIaT g
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Correct Answer :-

o The pressure below the wing is more than the pressure above the wing. /

TG P A1 BT SE, T S SW & a9 I b gl

15) What happens when an electric cooler is switched on? /

T G § 919 U gAfRed o a1 a1 e 32

1. The connecting wires are attracted to each. /
TSN AR, T G BI 3R BT g §
2. The connecting wires get cooled. /
HIST IR &S B o 5l
3. Heat is produced along the connecting wires. /
TR AR & WY ST I gl 71
4. A magnetic field is produced around the current carrying wires. /

YRT 98- ARl & U U D1 &4 I 51 oIl & |

Correct Answer :-

« A magnetic field is produced around the current carrying wires. /

YRT 6 dRI & SHTHUR T Yoeb 14 &5 I 81 oiIell 3 |

16) Name the two cattle breeds which are of Indian origin?
i. Jersey

ii. Brown Swiss

iii. Bos indicus

iv. Red Sindhi

ﬁ%ﬁ@ﬁﬁﬁﬁqvﬂﬁﬁﬂﬂﬂﬁ,mqﬁaﬂﬁ?
B

iii. 9T SfSHH

|vig'ﬁ|'ﬁn'

1.iand ivonly/av_dﬁi 3R iv

2.iand ii only / T i 3R i

3. iii and iv only / Had iii 3R iv

4. iil and iii only/ T i 3R i

Correct Answer :-

« i and iv only / e iii 3R iv

17) Bile juice is stored in a sac known as the gall bladder, located near its organ of secretion called ./

R &1 HeRU AR e TS AA A I e S SHP  Ped ard J1d & 37 P U fRG gar 2|
1. spleen/‘Fﬁ_ElT
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2. pancreas / SR
3. stomach / 3THIRII

4. liver /9P d
Correct Answer :-

o liver /dpd

18) Different varieties of milk like full cream, skimmed, etc. are available in the market. The technique used for
preparing skimmed milk is: /

Y & IR ToR 9 o i, AaTSiRd Sfe aeiR | Iudsy § | AATsRied gy daR $ & fig SugT
P S Tl TP @

1. Solvent extraction / fa@RI® fsmyor
2. Centrifugation / SUHLIHRT

3. Evaporation / CILYiCR|

4. Fractional distillation / THTSIT 3TTG

Correct Answer :-

« Centrifugation / SYBHIDHRT

19) Which of the following forces is always attractive? /

frafaf@a & & o1 w1 9 g3 3T i 82
1. Electrostatic force / RRR 3?{3?[ EN

2. Gravitational force / WﬁfﬂT ENl

3. Muscular force / U= g

4. Magnetic force / W EN}

Correct Answer :-

« Gravitational force / WW qd

20) Identifyi. i, iii and iv in the given classification of permanent tissues. /

TRl Fast & fevw v geffesor 7 i i dii 3R iv T ggEa S

1. i. Parenchyma ii. Complex iii. Sclerenchyma iv. Phloem /

i. Igad (R-BIZAT) ii. AR (SIUcaT) iii. TEIdd (FARTBIZAT) iv. TINATE (FeIed)
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2. i.Complex ii. Parenchyma iii. Sclerenchyma iv. Phloem /

i, AR (PTOQeT) i, gdd (UR-HISH) iii. Teldd (TRAGISHT) iv. UINaTg (UeiTeH)
3. 1.Complex ii. Phloem iii. Sclerenchyma iv. Parenchyma /

i, A (TOQeT) ii. TYaTg (FAdH) iii. TGIdd (ARABISHT) iv. Tgdd (UX-HTZH)
4. 1. Complex ii. Aerenchyma iii. Sclerenchyma iv. Phloem /

i, FERITY (PIaeT) ii. IIde (WABIZHT) iii. TGP (WRIRADTZHT) iv. UIHaTE (FH)

Correct Answer :-

« 1.Complex ii. Parenchyma iii. Sclerenchyma iv. Phloem /

i, TN (PTUQeT) i, Gedd (UR-HISH) iii. Teldd (TWRAPGISHT) iv. UINaTg (UeieH)
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